BEEAE A B 2023407 H17H (H)

#wogE BRIV KRETFR

— %R > B

HB :2023.7.18 8:55

BGL | N K4 7w K| A > |GROSS| HDCP | NET | crossif T IBGz | SN K4 77 N A2 |GROSS| HDCP | NET |crosshafi e
LIRS 42 44 86| 14.4 | 71.6 46 |VH D 52 43 47 90| 12.0 | 78.0
20/ 43 49 92/120.4 | 71.6 AT K% fE— 54 53| 107|28.8 | 78.2
3| AKT KA 40 48 88/ 15.6 | 72.4 48 |HRF 2 46 43 89/10.8 |78.2
4 HEE % 43 42 85/12.0 | 73.0 49| Rl {540 50 43 93| 14.4 | 78.6
5|1HH —k 44 46 90| 16.8 |73.2 50 /ME BAF 49 54| 103/24.0 [79.0
6 IAR Fnzz 45 44 89| 15.6 |73.4 51(h 0 #E 51 50/ 101]21.6 |79.4
7R RE 46 48 94/ 20.4 | 73.6 358 52/ H L HR 53 47| 100]20.4 |79.6
8|HLH ~F 41 46 87 13.2 | 73.8 53| AA FEZR 48 51 99| 19.2 | 79.8
9 /NP RS 47 39 86| 12.0 | 74.0 54| HF H— 57 52| 109|28.8 |80.2
10| IS & 45 52 97(22.8 | 74.2 55| AR I 52 51| 103[22.8 |80.2
INE= 48 42 90| 15.6 | 74.4 56|k E 4T 58 56| 114/33.6 |80.4
12/ #FZ 46 50 96 21.6 | 74.4 57N A& 46 43 89| 8.4 [80.6
13PPEH Z— 48 48 96| 21.6 |74.4 58| Klg [H & 51 49/ 100/19.2 |80.8
14| HZ 44 40 84| 9.6 | 74.4 59| 1L IgsE 50 49 99/18.0 [81.0
15 H Bz 38 44 82| 7.2 |74.8 60| JR)11 K= 48 51 99| 18.0 |81.0
16| g% 47 46 93| 18.0 | 75.0 61 Al 1E& 54 51| 105/24.0 [81.0
L7061 7% 49 48 97/21.6 | 75.4 62 |5y JRFE 51 54| 105/ 24.0 | 81.0
I8\TAR + 50 53| 103[27.6 | 75.4 63|17 FHE 47 45 92| 10.8 |81.2
193 F B 46 51 97| 21.6 |75.4 64 | HhlEF 7% 52 57| 109/27.6 | 81.4
20|l FR 44 53 97/ 21.6 | 75.4 65| fiEfE W 47 50 97| 15.6 |81.4
21 iy 39 45 84| 8.4 |75.6 66| 2 H HKE 47 60| 107|25.2 |81.8
22| R el 43 47 90| 14.4 | 75.6 67|58 T % 53 59| 112]30.0 |82.0
23 M B 41 41 82| 6.0 |76.0 68|Kfn 1E 47 46 93/10.8 |82.2
24| 2% 5L3C 51 49| 100|24.0 | 76.0 69 | BRI £2KHS 54 55| 109|26.4 |82.6
25| T H fE— 50 50| 100]24.0 | 76.0 70|58 EHH 58 45| 103]20.4 |82.6
26| 1L % 46 48 94(18.0 | 76.0 71| B 57 56| 113]30.0 |83.0
27 & 47 46 93| 16.8 | 76.2 21113 FokE 54 60| 114]/30.0 |84.0
28| A 44 42 86| 9.6 |76.4 731 E FH 55 55| 110]25.2 |84.8
29| FHIF FEH] 50 46 96/ 19.2 |76.8 74|16 K 58 63| 121/36.0 [85.0
30 | Bl e 42 48 90( 13.2 | 76.8 75 Ry 5L 55 56| 111]25.2 |85.8
31 1EHE iR 45 50 95/ 18.0 | 77.0 76| B fhiG 56 47| 103|16.8 | 86.2
32/ HH K 47 48 95| 18.0 | 77.0 7T SR 63 60| 123/36.0 [87.0
33MEH ALK 45 56| 101]24.0 | 77.0 78| AL i 61 62| 123/34.8 [88.2
34| Woe M 45 49 94| 16.8 | 77.2 79|45 B st 59 67| 126]36.0 |90.0
35|54 45 43 88/ 10.8 | 77.2 80|/ B EL 61 70| 131/36.0 |95.0
36| H)Il =25k 42 46 88/ 10.8 | 77.2 81|&HE K 74 64| 138/36.0 [102.0
37| RIE 23 52 54| 106]28.8 | 77.2 82| B IE 73 68| 141[36.0 |105.0
38| FHH il 50 49 99| 21.6 |77.4 KH R 41 40 81| 6.0 |75.0
39|t g —#t 47 52 99/ 21.6 |77.4 R BERH 38 38 76| 3.6 |72.4
40| L KRR 57 54| 111[33.6 |77.4 B K 39 39 78| 8.4 |69.6
41|\ 8P 72 5 44 54 98/20.4 | 77.6 BEA Efh 38 41 79| 7.2 | 71.8
42|11 FH— 43 61| 104|26.4 |77.6 a2 39 39 78| 3.6 |74.4
431th 15 50 47 97/19.2 | 77.8 WO 2Rt 40 41 81| 7.2 173.8
44\ 1h B 49 42 91]13.2 | 77.8 Hr R— 38 39 77| 4.8 |72.2
45| 188 —Hit 49 53/ 102/24.0 |78.0 RNy 37 43 80/ 6.0 |74.0 o
1 —vv/I/I\UVAGU



